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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / Emﬁﬁm

faeR o} favtuar FafafEaa & 9 53 siser v a3
1. Distractibility / %@W

2. Hyperactivity / Sfaafdsarar

3. Hallucinations / AfAYd

4, Impulsivity / R o[l

Correct Answer :-

« Hallucinations / AfdYH

2) Teachers must constantly deal with changing standards and

teaching profession. /ﬁT&ﬁﬁﬁ ﬁT&‘l’UTWﬁ GRUGIES Wﬁ'ﬁ'ﬁﬁ 3R
& 1Y SId BT 1T

1. Syllabus / GT6Y-fdaRor
2. Curriculum /tl'l?)'ﬂ?l'qf
3. Assessment / 3Tl

4. Exam system / GRIET FoTTett

Correct Answer :-

e Curriculum /tITo‘TERJf

3) Piaget believed that language develops in a child as a result of: / ot &1 | Ut f
= | UTHT o1 fasr, =1 & ufvomaeasu gar g:

1. Cognitive development / R REEE LIRS
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2. Egocentric development / SABIGd fdbr
3. Behavioural development / UdgRTHD i-acbli-l

4, Environmental development /UTIﬁTUﬂHﬁW

Correct Answer :-

. Cognitive development / SIS [dHT

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well
in her academics. Which of the teaching method will give more productive results for Mary? /

A3 ggd i 8 1 98 TP STYRY WRaHTeaH Tdd! 8 Afdh I8 Riem # Harue s 3id
81 utelt 8 1 7Y & forw i <Y Rreor fafr eiftres arvwg gifie

1. Excursions /YHUT T 3'|T£ﬁ?{

2. Brainstorming methods /W’QTW

3. Grade acceleration /‘BIT’S'Q'@

4, Individualized instructions /Wﬁr&m

Correct Answer :-

« Excursions /‘H'J:IUT?JTW

5) The occurrence of is an indication of stagnation in the learning process. /

&Y "eT, AT Y uftea & fRRa1 o1 Ue GHa 2
1. Motivation / 3THDROT

2. Plateau / FRR& (wien)

3. Progression / JATIl

4. Curve / Jsb (d)

Correct Answer :-

. Plateau / RRi® (@ﬁ)

6) What is the main objective of teaching in inclusive classrooms? / TETARR e fruaﬁ
BT BT I HT8?

1. Preparing students for job/ B B APl B fam JIR BT
2. Preparing students to pass the examination / BT DI URIET U A o g JIR BT
3. Developing thinking power of students / B! B Fela- Wfad BT faHr ST

4. Providing notes to students / BT21 I I < Ul Rl
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Correct Answer :-

« Developing thinking power of students / B! ol i fad &1 fas &

7) Development does not include changes that happen due to: / faera | 9 ufvad aftrfea T8t
B4 il F19 & RO gl §

1. Tllness / STERT
2. Learning / 3{feRTH
3. Maturation / URU&dI

4. Aging / §elUl

Correct Answer :-

o Tllness / STERT

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is /

“TATIIAT §9TH T4 3R Heg” (ST HTHI a9 WA TS S13¢) P TR & HAIGHISS a0 A
TIEUCH G -

1. Primary caregiver / URI¥&h TgIPH
2. Family / URaR

3. Parents / Hrar-foar

4. Teachers and peers / e SR et

Correct Answer :-

« Parents / ATdI-fUaT

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not
receive his pocket money for a week. What type of parenting is this? / S1d Y d=I] pelglH ?ﬁ@?ﬂ
8, T 3T HIaT-fUar Jusid 7 7 a8 Tara 31 ok 39 9dTd § % to g & g s
SIq@d g1 a1 98 {5 UPR ST ure=-uiyor g2

1. Behaviourist / FIIGRATGI
2. Authoritarian / ﬂ?ﬂ?ﬂa
3. Authoritative / 3BTRS

4. Permissive / W

Correct Answer :-

« Authoritative / TIBING
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10) Children with Autism are: / eAEdr (Gﬁﬁ\_ﬂ) I T-ﬂ'%ﬁ T eﬁ %

1. Unable to make eye contact with others. / m & 1Y 3G F WU R o e
2. Unable to move about comfortably. / SIRTH | ﬂﬂ'}lﬁ Sy

3. Unable to fall asleep. / Hig o & sy

4, Unable to follow instructions. / ﬁ%—‘lﬁ BT U H & 3gaef

Correct Answer :-

« Unable to make eye contact with others. / Qﬂé' & TTY 3G D HA H 3w

11) During stage of cognitive development, children acquire knowledge through
manipulating objects. / ST f[dHTT & AT & IR, T axgeil # gL HIb
T UT d &

1. formal operational stage/ 3= Highardes ra=T
2. sensorimotor stage / HERHIER a7
3. concrete operational stage / lﬁﬂm ST

4. preoperational stage / qﬁﬁﬁﬂm AT

Correct Answer :-
« sensorimotor stage / ARTACR SR

12) One way of minimizing the effects of diversity is to allow the children to: / fafaerar & wvma

FH B BT TP dRIP1 @l DI 1= B Srgafa T 8:

1. Win over each other/ W—@% R Sid BT@WT P BT

2. Operate in separate groups/ 3{eTi -3¢ HJ-LE;-\I. T BT B B

3. Start small communities of their own/30 Y & BIC W G2l = PR B
4, Socialize with each other/ W—@B\’ & 1Y Aol Wlef P

Correct Answer :-

 Socialize with each other/ W—@ﬂ? & 1Y A EI?{Ie[ Pl

13) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a
stimulus becomes a conditioned response to another associated stimulus. Which one of the following

examples satisfies that theory?/ mm@a%wﬁwﬁmﬁw%ﬁaﬂ% SR, Uh
JoT & T Ue Ok wrpfae uliforar gar ddes e & g ue axrd ufaferar s+ st
B Fafefaa # @ #1991 3¢ 39 Rigid &1 Iqy $Rare?

1. Children responding to the bell at school to indicate recess and associating it to happiness./ [CEIGRE]

G SO Bl T ATHI BT Tobd JHI & 3R I =M & A1y shied 7
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2. Children maintaining silence when the teacher raises her hand/ S fR1&f&6 g1 ISTa EGICE] ?[Eﬁ
§HIY WA B |

3. Children expecting to receive medals by the end of a race/ a@ & 3 TP USH U B Bl SHIG
TG Tl S |

4. Children getting star stickers for the right answers asked in class./ & T U@' T4 &1 W) & oY ®R
&R T 3 ATl = |

Correct Answer :-

» Children responding to the bell at school to indicate recess and associating it to happiness./ faemaa o

Hl FoiM B T GBI BT Yobd THIA ¢ 3R I8 WM & Ay siisd g

14) According to Cognitivism, learning is defined as a change in the learners’

JIFATHRAIG & IR, S A Rregmffd ﬁama%wﬁtrmrrﬁa%m
ciGIE

1. Behaviour / JdgR

2. Schemata/ A @Iﬂfl)
3. Mindset / AR

4, Morals / W

Correct Answer :-

« Schemata/ Hdd mf)

15) According to Bingham, what does an aptitude test disclose? / IEeekd SR, Gﬁlqﬁf TRT&or
& T Ul T 62

1. The tendencies and capacities inherent in the individual's original constitution. ) Hfad & Hol WHIT T Ffed

Tt

2. The achievement in different dispositions./ fafta @TW grgar ¥ Iuars

3. The readiness to acquire proficiency and exercise ability./ TIIOTT 3R 31T B P dRdT|
4. The strength of the different dispositions./ [EIRP] @Iﬂaﬁ@ g B I

Correct Answer :-

« The readiness to acquire proficiency and exercise ability./ TIUTT 3R 313 R P IR

16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle

is evident here? / U T 1 BIaRT A ST RI@T T UT1 39, 98 I+ JIal A A2 1 gl i
a1 3T Ryegia Ty 82

1. Reinforcement / W

2. Spontaneous recovery / Xdd: Eﬁ'ﬂﬁ?ﬁ
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3. Stimulus generalization / JeIUP JHRIIHRT
4. Stimulus discrimination / SEU® (NGB

Correct Answer ;-

« Stimulus generalization / 3& & AMHTGIH0]

17) Carl Jung’s approach for a personality assessment is:/ i Sipad & férqamfw Ca)

=PI E:

1. Judging / ]Q"W&ﬁ

2. Perception / GdGT
3. Structured / TR
4, Projective / PR

Correct Answer :-

« Projective / i)

18) Which of the following is the term used to denote inborn patterns of behavior that are

biologically determined? / Sifew =u 3 Huifa HAER & eI Uil HI /I & ﬁ'l'l'{
fereferera & & fobar wreg &1 SUd o wirar 82

1. Arousal / STio (TRI3TIA)

2. Drives / 3G (S1564)

3. Instincts / W EReFR)
4. Tncentives / TAIHT @@ﬁ&q‘)

Correct Answer :-

« Instincts / AAUGRAT GRea)

19) Which of the following is not a part of the process of memory? / BEIGIEECE R AR K| F[ﬁ'f 4 |
Afsear o1 fewar 181 82

1. Storing information / STFPR] TG ]
2. Encoding information / STH®R] BT HdrclIh U HRAT

3. Acting on information / T UX B FRAT

4, Retrieving information / SIHBRI Ut BT

Correct Answer :-

» Acting on information / ¥ U P BT
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20) What substage of cognitive development is apparent when a baby learns to press the ‘play’
button on the iPad in order to play his favourite nursery rhyme? / HIT-ITcH® faerg &Y P14
SU-STRT Y Bl 3, 59 TP ST S(U+11 U g1 AR} Hidar da- & g smg-is
@ e a1 HradT 32

1. Coordination of secondary schemes / D T3 BT IH-ag
2. Primary circular reactions / TUTHeh gdlhiR gidfehary
3. Secondary circular reactions / AT Eh qdlhiR gfafearg

4. Tertiary circular reactions / cj_clnllJcb CHIEIN PIGIERIY

Correct Answer :-

« Coordination of secondary schemes / H e oSl &1 TH-9g

21) What age is a child the most impressionable? / e ST hT d=dT T TSI YHTIRIT gl 872
1. 14 to 18 years / 14 ¥ 18 TY

2.2to8years /2T 8aY

3.9to 12 years /99 12 Y

4.6t 14 years /6 9 14 TY

Correct Answer :-

. 6to 14 years/ 69 14 TY

22) CCE is undertaken . /?ﬂ'\‘ﬂ'ﬁc _ OR™ far srar %l
1. Four times a year /Wa'ﬁfﬁ?ﬂ? dR

2. Throughout the year / qf R H

3. Periodically / THI-JHY UX

4, Twice ayear/wa'ﬁfﬁaw

Correct Answer :-

« Throughout the year / ¥ R

23) Questioning in the classroom : / PET o Uy BT
1. Develops inactivity / fAfspaar fawmRid & % I
2. Clarifies subject matter / fawg ayg Ga Y b dl % |
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3. Creates indiscipline / 3IRIATG -Icll UGT Rl g |
4. Is a waste oftime/ﬂmﬁwm%l

Correct Answer :-

o Clarifies subject matter / fawg a¥d B Y hdl % |

24) Needs which grow stronger when unsatisfied are called: / TS FHW Holdd g areit
TIIHATY 1 Hgardt

1. Deficiency needs / U SR

2. Primary needs / T SRevd

3. Growth needs / T{@ &R

4, Being needs / ARG T

Correct Answer :-

» Deficiency needs / U S

25) Who proposed the theory of observational learning? / verotty siftrTy &1 Rrgid fpam
U forar?

1. Ivan Pavlov / R4+ LIGIG)
2. B.F. Skinner / a?w IEZRy
3. Aaron Beck / 3R 9

4. Albert Bandura / SGXI

Correct Answer :-

« Albert Bandura / SQXI

26) A scoring guide use to evaluate the quality of students is called: | ST B
T[UTaT BT oD B & [T STAUTA DI S qTell TH WD Mg S = Hgard!
&

1. Checklist / Iepfere

2. Rubrics / T fsierT

3, Rating scales / X7 Thed
4, Inventories / Eﬁﬁ,ﬂ

Correct Answer :-
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« Inventories / %Fié'@ﬂ

27) Both pleasant and unpleasant feelings are associated with WA LEH]

3 3O gAY HTaATe A ST gt ¢
1. Double approach — avoidance conflict / fg =@ - uRegr gy
2. Avoidance - avoidance conflict / qﬁ’?ﬁ - qﬂ@ﬁm

3. Approach — approach conflict / DI - TP D0 Uy
4. Approach — avoidance conflict / ‘e’@ﬁw - qﬁ_ﬂ? Ty

Correct Answer :-

« Approach — avoidance conflict / _E"@_GlﬂUT - tlﬁ_EﬂT gy

28) Authentic Assessment is a form of assessment in which: / UTHIOTS ST i+
BT TP U g foraH

1. Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. / S EICAGIERSIEED gﬁm%mﬁﬁmﬁ%ﬁww%
S A JH SR DI B TP ST B UG R HRd 8

2. Students results are compared to hypothetical average student/@ﬁ%WﬁW
HTUMD Hd S Y DI S 8

3. Student performance is measured against a fixed set of predetermined criteria or learning standards

/ B % ez & gd Feffa aresi o dhem & ot & e Pfd e & faodta oo o g

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to

instruction / TRI&IP BT B AT TN, SN, T 3R T8 B HIwad A Ugat
IEEIEGERGIN

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. / S EICAGIESIEED gﬁm%ﬁaﬁmﬁimww%
S 3{TaR® T 3R DIE & Al Iy & UefRid #d §

29) CANCELLED
Classical gestalt theory was put forth by: / FATIS A TReTee Rigid 9 gRT U d IERIRIEIKIR

1. Thorndike / UTSISH
2. Kohler / PIBTR
3. Piaget / ot

Page- 9



4, Pavlov / UGl

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance

émﬁﬁﬁq—mwm%mﬁﬁﬁaﬁmaﬁ?mﬁumﬁam
?

1. Parental education background / TTe-fOar & fR&m ot TIEW-L[&I

2. Physical strength of child / T BT ARG qaa;‘ﬂ

3. Teachers contribution in learning process / ST Ufchan # e | &1 ave™
4, Social Influence on child's learning / S & SHH W FHIG THG

Correct Answer :-

¢ Teachers contribution in learning process / Wmﬁ @T&‘Wﬁ Al 2:-||] al-

Topic:- General English(L1GE)

1) Fillin the blanks with the correct option in the given sentence:
Most plant species are not adapt -- to a desert environ--.

1, --ive ... -ment

2. -- able ... -- mental

3. -- able ... --ment

4, --ion ... mentally

Correct Answer :-

e --able...--ment

2) Fillin the blank with the correct option in the given sentence:

A person of little or no importance is a --entity.
1. non--

2. trans --

3. uni--

4, dis --

Correct Answer :-
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3) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

What helps fleas to jump very high?

1. They are naturally born high jumpers and take off like a plane.

2. They are not insects that jump very high but rather move very fast.

3. They have short front legs and very long rear legs and get ready to jump.

4. Their rear legs have huge thigh muscles and their joints have a protein that helps.

Correct Answer :-

o Their rear legs have huge thigh muscles and their joints have a protein that helps.

4) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’'s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
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movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

How is it impossible for anyone to detach themselves from fleas?
1. Fleas attach themselves to the skin of the animal.

2. Fleas have little spines that stick into animal fur like Velcro.

3. Fleas can jump very high and land on the same animal.

4. These insects are very clever and have a thinking mind.

Correct Answer :-

» Fleas have little spines that stick into animal fur like Velcro.

5) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

What helps fleas to emerge quickly as adults from being cocoons?

1. The eggs are large enough and can be seen without the help of a microscope.

2. They hatch immediately and transform themselves into cocoons.

3. They are warm inside their cocoon and can emerge as full adults after only a day.

4. They can identify warmth, movement and carbon dioxide in exhaled breath.

Correct Answer :-

» They can identify warmth, movement and carbon dioxide in exhaled breath.

6) Read the passage and answer the question that follows:
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Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

Why are fleas considered impossible to defeat?

1. They can jump very high.

2. They run at an enormous speed.

3. They are well outfitted to feast on any animal blood.

4. They are too tiny to catch.

Correct Answer :-
» They are well outfitted to feast on any animal blood.

7) Read the sentence carefully and choose the option that has an error in it:

Which was the best of the two books?
1. best

2. Which was

3. the

4, of the two books?

Correct Answer :-

8) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
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the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was
tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an imperative
need at that time.

Why do you think the rider of the Pony Express had to change horses every 10 miles?
1. The rider would get tired of riding the same horse.

2. The rider had to reach the home station quickly.

3. The horse was ridden fast and would get tired.

4. He had to take his mail pouch with him on the horse.

Correct Answer :-

e The horse was ridden fast and would get tired.

9) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was
tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an imperative
need at that time.

Why did people rush to California in the 1860s?

1. Gold was found in the state and everyone wanted some.
2. The Pony Express was founded in the state.

3. It opened the way for new communications.

4, It was a place for new settlements.

Correct Answer :-

» Gold was found in the state and everyone wanted some.
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10) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was
tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an imperative
need at that time.

Why did the Pony Express begin?

1. Ponies were the fastest means of transport.

2. America had a lot of ponies and made good use of it.

3. There was no telephone or trains and no means to get or send news.

4. There were many wild horses roaming the countryside.

Correct Answer :-

» There was no telephone or trains and no means to get or send news.

11) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was
tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an
imperative need at that time.

Give a synonym of ‘imperative’.
1. Trifling
2. Trivial

3. Crucial
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4. Inconsequential

Correct Answer :-

o Crucial

12) Choose the appropriate tense to fill in the blank in the given sentence:

I the book that you lent me. I have got another 80 pages to read.
1. have been reading

2. has been reading

3. had been reading

4, am reading

Correct Answer :-
« have been reading

13) Fill in with correct determiner in the given sentence:

My brother does not drink coffee.
1. few

2. alot

3. much

4, many

Correct Answer :-
e much

14) Rewrite the following changing the active sentence to passive.

Seema informed me about her late arrival.

1. I has been informed by Seema about her late arrival.
2. I was informed by Seema about her late arrival.

3. I informed Seema about her late arrival.

4. About her late arrival, I have been informed.
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Correct Answer :-

» I was informed by Seema about her late arrival.
15) Choose the right tag:

Add some more milk to your cereals, ?
1. would you

2. wouldn’t you

3. don’t you

4, do you

Correct Answer :-
« would you

16) Choose the right tag:

)

He is coming here today,
1.isn't he

2.is he

3. has he

4, doesn't he

Correct Answer :-
e isn't he

17) Choose the appropriate prepositions for the given sentence:

A waterfall is a stream ____ water that drops straight a high point.
1.in ... out of

2. of ... down from

3. of ... through from

4, for ... out from

Correct Answer :-

o of ... down from
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18) Choose the appropriate antonym for the highlighted word in the given sentence.

There is a shortage of books at our library.
1. surfeit

2. paucity

3. opulent

4. undersupply

Correct Answer :-

¢ surfeit

19) Choose the appropriate conjunction for the given sentence.

Upendraistaller_____ Arun.
1. that

2. till

3. though

4, than

Correct Answer :-
o than

20) Choose the appropriate option that rewrites the given sentence in its passive voice.

Anil bagged the best conduct award.

1. The best conduct award is bagged by Anil.

2. The best conduct award was bagged by Anil.

3. The best conduct award has been bagged by Anil.

4. Best conduct award was being bagged by Anil.

Correct Answer :-

« The best conduct award was bagged by Anil.

21) Choose the appropriate option that rewrites the given sentence in indirect speech.
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Khushi says to Swati, "When are you going to Kanpur?”
1. Khushi asks Swati when she is going to Kanpur.

2. Khushi asked Swati when she was going to Kanpur.

3. Khushi asked Swati about going to Kanpur.

4, Khushi questioned Swati about Kanpur.

Correct Answer :-

« Khushi asks Swati when she is going to Kanpur.

22) Choose the appropriate tense to fill in the blank in the given sentence:

Yesterday while I in class I the hiccups. My friend told me

my breath.

1. sat, got, to hold
2. was sitting , had got , to hold
3. was sitting, got, to hold

4, am sitting, got, hold

Correct Answer :-
« was sitting, got, to hold

23) Choose the appropriate synonym for the highlighted word in the given sentence.
It is important for a driver to have a valid Driver’s License.

1. significant

2. creamy

3. trifle

4, consider

Correct Answer :-

« significant

24) Choose appropriate articles for the given sentence:

Experts believe that by twenty-first century earth’s supplies of gas and oil will be
largely gone.

1. no article required ... no article required
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2. No article required ... an
3. the ... no article required

4, the ... the

Correct Answer :-
¢ the..the

25) Choose appropriate article for the given sentence:

__ Bibleis a holy book, which teaches us the way to live a good life.
1. The

2. No article

3. An

4. A

Correct Answer :-

e The

26) Choose an appropriate modal for the given sentence:

Harini is late. She _______ have forgotten her way back to the new hostel!
1. should

2. can

3. shall

4, must

Correct Answer :-

27) Choose the most suitable pronoun for the given sentence:

A big pendulum clock! is what I want.
1. Those
2. This

3. Their
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4, These

Correct Answer :-
e This

28) Choose the option that substitutes the given phrase appropriately.

The fear or hatred of books
1. Bibliophobia

2. Bibliophile

3. Bibliomania

4. Bibliography

Correct Answer :-

» Bibliophobia

29) Choose the option that best explains the highlighted expression:

She would go to the ends of the earth to save children.
1. to fuss around

2. walk with her children

3. to do everything possible

4. doing nothing possible

Correct Answer :-

+ to do everything possible

30) Which of the following options best combines the given sentences?

Three people were injured in the blast. It took place yesterday.
1. The blast, yesterday, three people were injured in the blast.

2. Three people yesterday were injured in the blast.

3. Yesterday, three people were injurious in the blast.

4, Three people were injured in the blast that took place yesterday.

Correct Answer :-
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« Three people were injured in the blast that took place yesterday.

Topic:- General Hindi(L2GH)

1) ¥ied 3¢ did ve, W Jas |

g Hiau A9 W=, ST WA guTd | |

Pgd Aed derd Raga frea e afsmamal

W HiF & o & 499 § w9 Tl

ITT UL B! gD A U T U BT I7R T3
U - YHTA BT Yaiaardt &I a1 -6t 82

1. =

2. EUNCY

3. gog

4. FeRT

Correct Answer :-

2) WiEd 3Ne did ue, W e |

g i~ 96 UR, AU WA gl |

Ped -cd g e e e afmm)

W WA Ba § Ag Sl e Il

S TR Pl U - IR 7T UY o1 IR Td154:
W= - <37 BT 37 &7 52

1. 9

2.0d

3. ge®

4.4

Correct Answer ;-

3) igd 3N¢ fid ue, =¥ IaH M|
g w6 W, A9 9= YU |
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Hgd ded Jsrd Ragra firaa fea afcrama

W W R Ha g g AT I

ST TR $Y TeHT = TS T UY $T IR T
Y- ... arorard § A Bt i aprd &2
1. 3fifiTes

2. ST A FIS TN

3, Al

4. TSI

Correct Answer :-

4) digd 3iie i ue, wm¥ Jeq |

g Hawfy 9 W, a9 R GUTI |

Ped Aed grd g freq faeq afsmra)

R WA HRa g g ST I

IR U= P UgHR -1 U 7T Y $T IR 9159
- VR U § ARh- AT 6 aTd R 82
1.y

2. 31 §RI

.99 9

4, BB

Correct Answer :-

2

o S GRI

5) dlgd 3¢ Wid ue, T IaH M|

g i~ 99 W, Y RA gl |

Pgd ded Serd Ragra firera faea afsmral

W HT A Pea g g g aEn

IUa YRR B UgHR -1 U T UY HT IR Ia159:

- @gaeh%d’lauz,wmwemm g A 89 W, 3aY Wt YHTT | 1 ® B 91
AAPR T ?

1. 3YHT
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2. ®UH
3. Ief
4, TAY

Correct Answer :-

6) igd 3iie Hia ue, W & wa|
g A e R, a9 Ut gqTdi |
wgd ded erd fagd fraa fea afermmal
WU AFRag g g ag I

I UL I UgH -1 IR 7T Y BT IR qa139:
W - gra’ g o1 7 T §?

1. ShITEd BT

2. TR BT

3. B9 T§0

4. QI gl

Correct Answer :-

. ORI

7) Wigd siie ia ve, W & al

g i 96 UR, U WA g |

wgd Jed J5rd fagrd firea faaa afemamal

W YT H Fa & g ST I

S UL P UeHR -1 IS 7T Y BT IR TaA139:
R - = & @ o4 2 1 yataardt 78 82
1. IR

2. TR

3. fRrerm

4. 3%

Correct Answer :-
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8) dHigd sii¢ Uia Ue, T |al- ITd |

g A 9 W, aT U= THTd 1 |

wed ded Sterd fagd fraa aa afcramE|

W WA G g g I

IUY R U=IIRI P UgHR -1 UL 7T Y $T 3R 9154
U - TR Ui e s 6 82

1. 90

2. gl

3. pUsferdr
4, Hidar

Correct Answer :-

9) digd 3¢ i ue, T Tdm |

g A= 6 U=, AT WA G| |

wed Jcd Sterd fagd fiad aad aforame|

WU AFRa g g g ag I

ST TR Pl Ugeh? 1 YR 7Y U T IR 9154
WA - Hewfor /g2

1. %d

2.

3. 9dd

4, 9&

Correct Answer :-

10) ¥igd 3¢ Uid UT, W FaM |

g = 6 W, Y WA G| |

wgd Ted derd faga firea e aformal

WU A Ha g g e e

IU R U= P UeHR A U 7T Y $T 3R Iq159:

WA - ... aforarer § fagrt 7 fora-it forarait &1 quf= foan 32
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1.dR
2. 491d
3. 3816

4, g

Correct Answer :-

11) ¥ied 3n¢ Wid ue, WmH I&= |

THE = 99 W, Y RA gl |

Pgd ded dgra Ragra firera feea afsmral
WA Ha g g T I

IUYFd TR DI UgH A I T Y BT SR qalsa:

U - 3T 918 # Bfa A pwr & forg wu o1 welfa fpar g2
1. 7R

2. TR AP TN

3. giaY

4. BT

Correct Answer :-

12) g 3¢ Wid ue, T Iai M|

g Hewfy A9 W, a9 IR G| |

Ped e Jgrd Fagra freq faeq afsmra)

R T H Ba & g S I I

IUY R U=IIRI BT UGHR -1 T T Y HT IR I8
U - 0T A ford 1 & o uor fad &2

1, Uielm

2. pral

3. e

4, oflcd

Correct Answer :-

o Grar
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13) ¥igd 3ii¢ fid Ue, W ¥ 1|

g ewfy 9 W, A9 U= GUT| |

wed ded Sterd fasa e g afsramE|

W WA Ha & g ST I

SU e U= P UeHR A9 YD T Y $T IR Ia159:

U - FWT & Figa IR W UG S aTaT 95 T Uelld 8Y 76T 2?2
1. A GO oI

2. TTH AP Aol

3. AT UgTS TR Yag P bl

4, T G B gl

Correct Answer :-
« QHT U8TS IR &g &1 o

14) Wigd 3 did ve, W gam Tl

g a6 W, Y WA G| |

Ped Acd g g frea e afrra)

WU AFRag g g ag Il

IUYad TR Bl UgH A Y U Y BT Sw% Ja153:

WA - TS o4 ARIST S TP AR §Td I B Hgar g ol -

1, ST ol SAH B

2. RIS A S B

3. TR Yaehd gl o |

4, BT HAT B et 2

Correct Answer :-

o AT AT IR SR B

15) Hred 3N¢ Wid ue, WmH I&- Ta|

g = 6 R, Y WRA G| |

Pgd "Aed Sera g fiea feea afrral

WU AHRa g g g ag I

ST T P UghR 1 IR 7Y UY &1 IR TA154:
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TR - FE...... T I’ T ST 82
1. IR

2. BB

3. BRI

4, PRI

Correct Answer :-

16) aTsfad 3R gaR uras U & g 19 & TP WRaR &1 forer fiaar 81 39T srielt A1 @iz ATl
AP 3RT A ID! Tg P AP I TG a1 71 98 Frere fF 3y Rigl ¥R A 37 | 39S FROT TP =S
1 4TI 8 & A A U IR U U Pl Torl | 8 - IH GoPRd §U bel- GX &l off Tig; i’ AT
T Pl DI a1 THST ATAT 8 1 P A ITB! PR FADR 9a1d far- = F u=it Tolf I Far g, 71 g9 Uit
TRig A S 81| §919 911 I a1 TP gl g1

wet ¥ agt fre

@ & gt fA=m

foaw fPaT 19 &,

P 8 ygAHI|

I8 A 919 3 §1d G SR gt §) Y 9% U 33| WeTURA § gRIRR &1 it ofd aw a1y fumar Ao simar
?, 78 Mt welioTors U § U $u1 81 UT1 WS WY Blsd T df Had d8t 39 THid B id B 8T YTl

UG T B UG} 1 IS TC UY PT IR qa1gd:
U - ‘AP’ T 82

1. R

2. TP id BT AT

3. USgA® H

4, 3RS

Correct Answer :-

17) S1sfaa 3R g uraT Y ® g A9 & TP WRaR &1 fores firear 81 ST Srelt Ary a%ew o
AP 3RT A I7P! g & dPd A FI fhar g1 a8 3T & 2my Righ 1R Ad 331 SHBT SR TP ST
1 YT I8 & I A U IR T U1ad Pl ToRT1 I8 A IH gPRd §Y Pel- "X 8l ol Tig Par’ ¥
T Pl DI TGT U AT 81 T A STB! PR AP 9a1g (T = F U=t Wit I Fl §, 7T g9 Uit
TRiE A S 81| I 911 I a1l TP gl g1t

e & uEt o

@ & wft A=

ol fran N g,
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P 8 ygEHI|

I8 A 99 A 91d G 3R g1 B gEd a9 I 79| HETHRE | GIUTER BT St Sf 9% T1Y FIUTaT -Tor 3t
g, 98 ¥t Tl U H U $1 81 ATI U9 914 Blsd T O Had d61 S Tbid B 2id B IeT YT

I TN B USHT AR T T WY BT IR qaA13:
U - ‘AP’ g B1 3 3 —

1. 91

2. gfw

3.9
4, TR

Correct Answer :-

18) T3fae 3NR gR ura+T UuY ® g A0 & TP WRaR &1 fores firarar & 1 ST et A1 a=6w AT
AfBT 3R 7 I g & D A TG fhar g1 98 A S emu Righ wR I 331 3961 FRU T TS
1 4TI 5§ & ATHA A U IR TP U19d Pl ToRT| I8 A I gobRd §Y Hel- g 8l o g Pt Sxd
T Pl B ST AT ST 81 T A SAD! PR GAPR 91 fear- ‘T & Su=t it & 1 §, 7 g9 Ut
Ti¢ A UM 8l I 911 I dl T gl g1

et § wg for

@l & gt A=A

frad fPam oA §,

I 8 ygEHII

98 A 19 3 97 G 3R g 8 Ygd 9% Ad T8 | WeTHRA A gRIMRR &1 St 3fd ae [y fAumar JeR 3
2, 98 Wt vdioes U § U Fa1 81 ATl 9 91 Bisd T df $ad dat S-d THid B Jid B IeT AT

ST TR B USHR 1 T T ¥Y HT S<R Jaisd:
U= - 031 I 7E Q&7 o= . 82

1. AFG &1 AT JHI 1 o7l 5|

2. TI-319 9 fie S gl
3. S A A A e o 81
4, Ty & o911 g oia o FAret 7 fiyer e 81

Correct Answer :-

o T2t S o T of & gt A @ S 1

19) STsfaa 3R gaR urasT WY # g 19 & TP WRaR &1 fores firaar 81 39T sraelt Ary a3 ol
AP 3RT A 37! Tg F TPd A T1g fHar 71 ag sufee fF sy Rigtht wR A9 @1 5901 FRUT U St
P YT I8 & I A TP IR TP °19d Pl ToRT| T8 A IH geoh R §Y Pl- g 81 o1 g Pt Fxd
T Pl DI TGT THST AT 8 1 T A ITB! PR FADR Ta1q a1 = F 3u=it wolf I F1 g, 7 g Uit
TRi¢ A 9 81| §919 911 99! a1 TH gl g1
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g | wEt

@ & Jt =
foras faT o9 §,
I 8 TgEHI

I8 A 99 A 91d G iR g4t 8 g 9% A I | WeTHRA | GIRIMR &1 Y 8fd a% Iy fAUTaT Tor Simar
g, 98 W weliTeTs U U 1 81 AT 99 WY BIS T df Had a8} 39 Thid B i B 8T YT

IUYa TN DI UGHT AR T T WY BT IR qa139:
U= - Gea Weg T f 7 g 2

1. R 0d

2. U e

3. qg faA

4, qu

Correct Answer :-

20) STsfaa 3R g urae Wt & g T ¥ U TR &1 v firerar §1 ST SRelt AT A%y ol
AP 3RT A I g & adhd A IS fohar 81 98 safa i oy Right wR A9 ¥8 1 39971 wR v wof
1 AT 5§ & A A U IR T U1ad Pl ToRT1 I8 I goPRd §Y HeI- ' 81 o Tiq Pt g¥H
T Fl DI TET U ATGT 81 T A ITBI PR DR 9a1q f¢ar- = F u=it Tolf I F1 §, 7T g9 Uit
TdE 9§ SO g1 | 91 91a J9! 9 T ol &l

wE ¥ wgl et

@ & wet =

o e a1 §,

P g ugEEI

I8 9 919 A 97d G 3R g 8 Yed @ d I8 | WeTHRE H GRIRR &1 o 3id ae a1y Frmar Jer simar
8, 98 ft vdierd® U § U $1 81 4TI 99 914 Bisd T d@f $ad dat S-d THid B Jid B 3T YT

I TR P UG -9 U T Uy BT IR Jarsd:
A - 9t B g s aTen s g 2

1. W

2. AR

3. TR

4. 9Tl

Correct Answer :-
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21) sTsfaa ok g urae il A g A1 & U TR &1 foreh fireran 81 ST Srel! ATH A=%D ATl
Al 3RT 7 I g & TP A TG fhar 81 a8 3o & o Right W= A4 331 3961 R T S
1 YT ¢ & AT | TP aR TP IR ol ToRT| 8 A I PR U Hal- g 8l off ¢ P’ Ixad

T Pl B T U ST 81 T A IAD| PR JADR waTd far- qﬁamﬁnﬁﬁﬁgﬁrg,ngerq:ﬁ
qHe A UM g1 99 91eT Wad) |t Uh § 8l

el & ugl i

@ & gt A=

el P a1 §,

FI T ugEEII

I8 A 919 A §Td G SR gt §) e a Ud 3| WETYRA § GRIMRR &1 it ofd aw Ary fAumar Jeiw simar
g, 98 W udierere U U 1 81 AT 99 1Y IS T df Had ag! 39 Thid B Ui B g1 YT

S TR $I UgdhR -i1a U T WY &7 IR Jaisd:
U= - UMY & THia & B AT B QT 12

1. fove

2. Href1-forr

3. SR

4, 49R

Correct Answer :-

22) Srgfaa 3R gy uTas Ul § g 716 & P WraR &1 fores firaar 1 ST sraelt A @z ol
AT 3RT A ITP! g & aPd A TIe fHaT 81 98 3Tt i 3y Rigtht 1R Ad 331 3TBT R TF ST
P 4TI I8 & A A U TR T U1ad P ToRT| T8 A IH gobRd §Y Pel- g &1 o1 7iq Pt g
T il DI TGT THST AT 8 1 T A STB! PR FADR wa1q (a1 = F u=it wolf I F1 g, 71 g Uit
TRig A S 81| §914 911 Jah! af TP gl g1

gl 3 wgl foe

@ & gt A=

foaw fPaT o9 &,

&9 8 ugaTI

I8 A 919 3 §7a G SR gt §) Yea a9 T 38| WETYRA § gRIRR &1 5 ofd aw Jry fFrumar TeR simar
B, T8 Mt wioTors &0 ® T $1 81 71 T WY BISd T df Had d6! 3% Thid B id B 8T ATl

IUYE TN DI UGHT AR T T WY BT IR qa134:
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Correct Answer :-

23) Srsfad 3R guR ura- Ul H g W & U WraR $T1 K1k firaar 81 337 S/l A1 axas ATl
AT 3R 7 I g & dPd A FIg fhar g1 98 3Tt P 3y Right R A 331 3TST R TP SIS
1 UTI I8 & ATHA q TP IR U U1ad P ToRT| 7§ 7 S gobRd §U Hel- "gR 81 O 7ig P’ §Td
T Pl DI T U ATAT 81 T A ITB! PR AP 9a1q far- = F u=it Wit & F §, 71 g o+t
¥ | UM 811 99 91el 99 @t Th g 2 1

wE ¥ A ford

@l & |t =i

ot fram #1T 8,

4 g I

I8 A 19 3 §Td G SR g 8 e @ d 38 | WETURA A GRIMR &1 &t ofd a a1y Fumar Jew amar
7, 98 Wt vdioTa® U ° Ue Fu1 g1 ATl 99 A1 Bisd MY d@ Fad d@t SId THid B Jid B 1T AT

SR TR F UgHR 119 T T Uy BT IR Jaigd:
U= - HoH Xeg T 82

1. dead

2, fac=it

3. I

4, SRS

Correct Answer :-

24) S15fYa iR AN UTa= Ul ¥ g 719 & TP WRaR &1 fores firaar 1 39T Srielt A1y axee ol
AP 3RT A IP! Tg F aPd A 15 a1 71 ag swfere fF amu Rigtht ¥R A 37| 3901 FRU v St
1 AT 5 & HTHA A U TR TP °19d P ToRT| T8 A IH gobRd §Y PI- g 81 o g Pt S¥H
T Pl D) ST THS G181 T A ITD] PR GADR wdTd [¢aT- 9 F u=it wolf | F1 §, 71 g9 o+t
¥ 9 S 81| 991 9Tl 99! 9t TP g 2l

g A wg frer

@t & gt A=)

frudi oo g,

P4 8 Tl

98 A 99 A 91d G 3R g 7Y e 9 A W | HeTHRE | GIRITRR &1 S 8fd b Tq1y FAUTaT o 3mar
%, 78 W ufioTrers ¥u ¥ ue o 81 4T 99 1Y BiSd T df Had T8 3% THid B Jid B @7 AT

IUYad TN DI UGHT R T T UY BT IR qaq15:
U - aEfa | e ?
1., U1 Ty
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2. QTS T
3. SIS T
4, IV gt

Correct Answer :-

25) STgfaa iR gy uTas Ul W g 719 & TP WRaR &1 forss firaar 81 39T Srielt Ary axaw ol
AfBT 3RT 7 I g & AP A TG fhar g1 98 A & 3y Right R I 331 3961 RO TF St
1 AT 5§ & WA A U TR TP °19d P ToRT| I8 A IH goPRd §Y Fl- g 81 Wl g Pait’ F¥aH
H Pl ) TGT THST ST &1 T A ITP! SR I3 SiaTd f3a1- 7 # 3ra=it woff @ Sl §, 71 g7 =i
Tig A 9 811 §914 911 I a1l TP gl g1

w3 I wE e

@l & gt A==

frad fFaT S §,

I 8 ygEHII

98 A o1d 3 97d G 3R gt §) Yed 9@ d 33| WETURA H GRIMR &1 it 3id as I1y fmar JeR simar
g, 78 W ufioTere ¥u ¥ uw o 81 4T 99 A1 BSd T df bad a8 3% THid B Wid B @7 AT

IWa TR B USH -1 T T WY HT IR Ja1sd:
U= - 8 A T DI HI GbRT ?
1. aifor ST § il ! e IHT STl & |

2. I Pl 36 BIC QT YT
3. iy Pl TG T
4, FiTds T ST T

Correct Answer :-

. I ST H HII b T JHEN A1 8 |

26) aISfaa SR gAN UTa Ul § g 7110 & TP WReR &1 fores firaar 81 39T Srielt A1y a3 ol
AT 3R 7 I g & DT A T1G fHar 81 98 3T i 3y Righ 1R Ad 331 3TST R TH TS
1 AT 8 & A A U IR T °1ad Pl ToRT| I8 7 IH gobRd §Y HI- g 81 o g par’ ¥
T Pl DI T-GT THST ATAT 81 P A ITB! GoPR FADR 9a1q f¢a1- 1 F u=it Tolf I F1 g, 71 g9 MUt
JHG | §HM g1 99 919 9@ dt U gl g 1t

g A wgt

@ & Tt frm
frad foramn &= §,
&9 g ygarI|

I8 A 919 3 97d G SR gt §) YEd 9% I I8 | WETYRA § gRIMR &1 &t ofd aw Iry fumar Tew s
8, 98 Wt vdioa® U § U $1 81 ATl T9 914 DS T d@ $ad q8t 3% THid Y Jid HR 8T YT
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ST TR Pl TGP AId IR T Uy BT IR qarsd:

T - U TR P AT @ g 1 w1 @ &1 war e 82
1. ST DI

2. Teg] & WA &l

3. YR Bl

4. GIAYR & Tepid bl
Correct Answer :-

« HEGIA B

27) Srsfae 3R g uraH Ul H g W & U e 31 o1k fiear 31 397 St 11 axas ol
AT 3RT 7 I g & AP A T1< fHar 81 98 3Tt 7 3y Righ 1R I 3| 3961 R TF TS
P UTI I8 & WA F TP IR U U1adl Pl ToRT| 8 7 S gobRd gU Hel- ‘gR 81 ol 7g Falt’ ST
T Pl DI TGT THST ATAT 8 1 P A ITB! PR FADR 9a1g far- H F =it Tolf I F1 §, 71 g9 Uit
TC O S99 81| 971 Tl 99 9 Th gl gl

el & wgl i

@l & |t =i

foraw fpaT aIF §,

F9 g ugEHI|

I8 A 919 3 97a G o¥ gt §) e 9@ R 35| WETYRT ¥ gRIRR &1 it ofd aw a1y fumar TeR simar
§, 98 Wt ydioTa® U § U Fa1 81 4TI Ja 914 DS T d@f Had qel 3% THid B Jid H T YT

ITYF I DI UGH A T T YUY BT IR 94139
U - YRR 3faa: fad uffdra gt simar g 2

1. AT o

2. R H

3. dIoT |

4, gt o

Correct Answer :-

28) TT3fae 3R g ura- Ul H g T & TP WNaR H1 Rorsh fraar 81 ITHT et A1 a=as ATl
AP 3RT A IP! g & AP A T1g far g1 a8 3Tt fF 3y Righ W= A 331 SHST FRUT TP S
P UTI I8 & ATHA / TP IR U U1add P ToRT| 7§ 7 SH gobRd §U Hel- "gR &1 S 7ig P’ FxH
T Pl DI ST U AMGT 21 T A B! PR ADR 9a1q far- = F u=it weolf I F §, 77 g Sa+it
Wi ¥ UM g1 99 araT 99! af T g 2l

gt 9wt fra
|l & Ft A=A
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forad fea @19 §,
9 B UgEHEI|

I8 A 919 T 91d G SR gt §) Yga 9 d 33| WETHRA H gRURR &1 St ofd a Y fAumar e eirar
g, 98 W ufirers U § U F1 81 AT 99 WY BISd T df Had agl 9P THid B id B ST AT

IUa TR P UGH 1 U T U T IR Jaisd:
TR - 3RT A A=< DI forsy 18 A I1g o 2

1. 9y

2. el

3. TR

4.8

Correct Answer ;-

29) ST3faa iR R uraH Wt A g A0 F TP TR o1 vk firerar §1 ST Srel AW A=%D ATl
AT 3R 7 I g F dPd I T1< fhar g1 98 3Tt [ 3y Right R A9 1 3961 R T TS
P UTI I & ATHA H TP IR U U1ad Pl ToRT| 7§ 7 SH gobRdl §U Hel- "gR &1 Sl 7ig P’ FxIH
T Pl DI a1 THST ATAT 8 1 P A ITD! PR AP waTq fedr- = F u=it Tolf I F1 §, 71 g MU+t
HE A SO g1 99 919 9@ df Uh E el

e 9 wE e

@l & i F=

foad fea oI 8,

I 8 ygEHI|

I8 A 99 A 91d G 3IR g B e 9 I W | WETHRE | GIITER &1 St Sf % T1y FAuTaT o smar
g, 98 ¥t ydiord® U H U $1 81 4TI 99 919 BISd T T Had q6t 3% THid B Jid P 8T 4T

I TN DI UGHT AR TS T UY BT IR qA13:
U= - BT B1 agad- ghm?

1. %

2.9

3, Bl

4. 3TN A PIS TS

Correct Answer :-

30) ST3foa 3R g UTaH W4 A g W & UH e B1 forsp frerdn 81 STHT SRIeh A0 a=d) ATl
AfBT 3R 7 IH! g & DT A T1 fHhar g1 98 A & 3y Righ W= Ad 331 3961 $RU T St
P AT1 7I§ & AT A TP IR TP UTgd H1 ToRT| I8 o S gPRd §U Hel- ‘g 81 o1 i ' sxard
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T Pl D1 ST THST ATET 81 T A D] PR AP WaTq f&ar- F F u=it wolf | F1 §, 7 g9 3o+t
UHg I S 811 991 Tt g9 | UE gl 3l

wEl @ wgt

@l & wt f=mi
frad e B9 8,
F9 g ggEEII

8 A 919 A 91d G SR gt §) g 9 U ¥ | WETHRA A JRAMBR &1 St ofd aa Ay fAumar s sirar
g, 98 W ufiTere U U 1 81 AT 99 1Y BIS T df Had a8} 39 Thid P id B 8T YT

IWR TR B UGH -1 U T UY HT S<R Jaisd:
U - forp st & SfRa ord ot arsT|

1. STSTE, IR

2. 774, fqa=Tere oA

3. =7, Fer

4, S TR GRS & 19

Correct Answer :-

. I, fdaeTeTe au

Topic:- Science (SCI)

1)

Find x, v and z representing the number of moles of the reactants and products in the skeletal

equation given below: f
mmmmmmﬁmaﬂtmmmmﬁﬁMW

yfafaféea axer arer x, v 3R z 7 o
Fex03 + xCO 2 vFe +zCO»

l.x=1, y=2 & z=1
2.x=3,y=2 & z=3
3.x=2,y=3,&z=2

4x=4,y=3 & z=4

Correct Answer :-

2) What happens when a sound wave is propagated through a medium? /

I @y 981 T A1eaH A uITid g, of T ST @72
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1. The particles of the medium move perpendicular to the direction of propagation of the wave./
T & HUT, R S TR P = & daad MR gid &

2. The particles of the medium remain in the state of rest./

T & HUT yTAaRT & I8 ]
3. The particles of the medium make to and fro motion about their mean position./
T & HUT, 36! A1ed FRURT & THT 3eRIR- Mfaxfid gid 8 |

4. The particles of the medium are also propagated. /

WeEH & B 4 gEIid gid B

Correct Answer :-

« The particles of the medium make to and fro motion about their mean position./

HIHTH & BT, 3701 Hied AT F T 3eRIWR- MfoRfia g g1

3) What are the common fishes selected for pond culture systems? /
arere Tad= yonferal & fore wafaa & 18 I ot s 82
1. Sharks and rays /W 3R

2. Sardines and mackerals /?IT%:T G?Rﬁ%ﬁﬁ

3. Mullets, bhetki and pearl spots/q@l@, e aﬁ?uﬁ'&ﬁ‘d

4, Catlas, rohu, mrigals, common carps and grass carps / hcddl, ﬂ’g’, Hild, - Cl')lur S-ﬁT IR

EQL|

Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps / S cCdil, ﬁ_g', HITeT, "THTY HTY 3R I

4) The phenomenon responsible for the twinkling of star is: /

IRl @1 feufenmge & g Swerl ye &:
1. Dispersion and reflection / UdIR G'ﬁT SNGRE

2. Reflection /UTITJR'T:T

3. Atmospheric refraction / Cllgl-iSQ‘IﬁILI KIGRE

4. Dispersion / TR

Correct Answer :~-
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« Atmospheric refraction /?ﬂHﬁ@?ﬁT{ 3O

5) Which one of the following diseases is almost eradicated from our country? /

fafafea & & fora ARt <1 gaR 331 A T T R fear mar g2
1. Dengue / ST

2. Malaria / TR

3. Encephalitis / ART®S TMY

4. Poliomyelitis / QiferaT

Correct Answer :-

« Poliomyelitis / Oiferar

6) The hotness of an object can be measured by its ./
ot avg @1 THige @ ST® SRT HIYT ST Jhai g
1. volume / 3{Idd+

2. Temperature / dTJHTT

3. Size / 3HR

4, Density / Y1cd

Correct Answer :-

o Temperature / dTUHIT

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /

U UgaH & qle o1 ST Teh TEol ¢ | e B Sraiy 7T g2
1.0.5s

2.25s

3.1s

4,0.1s

Correct Answer :-
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A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5
seconds. The acceleration produced in that body is: /

10 fFUT gouwT &1 U@ 1T, 10 fie/Ad s & U GHE T 5 AP & fore e Afas
Tde & FHIAR TTaxie g1 39 FI1a g1 SdTfed avur g:

1. 0.5 m/s?
2.2 m/s2
3.0 m/s?
4, 50 m/s2

Correct Answer :-

« 0m/s2

9) Complete the statement with the correct option given below:

Matter is anything that ./
1 o e fawedi A @ T} fawed gaoH: HU= & gui H3:
yerd ag g il
1. occupies space and has a definite mass. /

R U1 B 3R o T R s glar gl
2. occupies space but has no definite mass. /

RI ORI g Afp 5UPT I Midd Soua™ el giar g

3. exists as a solid with a definite mass. /

U i S & I Ue 319 & 0 J HISG gl |
4, has a definite mass and a definite shape. /

Te T2 5o U T A 3R &1 81 B |

Correct Answer :-

« occupies space and has a definite mass. /

R IR g 3R orgepT ues RAidd g giar g1

10) Select the appropriate metal to be used to change the colour of an aqueous solution of
CuSOy from blue to colourless along with a red brown solid getting deposited. /
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cuso, & TH faeasT, FoRTd ara YR 9T & 31 AT §3IT 8 39 ger adT faaa- &1 -ia
[N F TR a9 & T wga 814 areil SUYad YT o1 a9+ Be |

1. Silver. / TTd]I
2. Gold. / Tl
3. Mercury. / URT
4, Zinc. / STl

Correct Answer :-

o Zinc. /Sl

11) Sharp edged metal pin will go easily into the wooden board because: /

o YR qTelt UTg D1 U ST & Adhs! & dls W g Sel it

1. As area of contact reduces force increases / JUP &7 HH BRI dedl %I

2. As area of contact reduces force decreases / AU &3 HH g I & HH GIdl %I

3. As the area of contact reduces the pressure reduces / $ &7 HH tﬂ'?'r Y 3§ HH @?IT %I

4. As the area of contact reduces the pressure increases / U5 &7 HH 4 I a1 dedl 2l

Correct Answer :-

« As the area of contact reduces the pressure increases / U &7 HH g1 T aE dedl %I

12) A screw gauge with zero correction gives the following reading when used to measure the
diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions. Given
that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire
from the above data is: /

R GYR & 1Y TP TP 9 TP dR & ATH Y A0 & I ITTHT § a1 5| R
Frafafaa S ar 31 g arue & = o fondt ok 35 arue {f$n = 52 s famn
w%%@wmmlﬁtﬂ,%@m$ 100 TSl & AIFY 8 | SWRITd GI-T A AR
DI AN 5

1,0.0052 cm / 0.0052 JH
2.0.052 cm / 0.052 TH
3.0.26 cm / 0.26 9t

4.0.52 cm/0.52 &

Correct Answer :-

. 0.052 cm/0.052 &
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13) A dull green colour coating formed when a copper vessel is exposed to moist air for long.
The green material is a mixture of: /

d U did DT U od 99 do 3115 9Td1aR0T A 381 §, a1 39 UR TP g¥ I Bl U o
STl 81 98 831 et fare ) o1 U fHur g:

1. Cu(OH), and CuO / Cu(OH), T4 CuO

2. Cu(OH), and CuCO5 / Cu(OH), Td CuCOg
3. Cu(OH), and Cu,0 / Cu(OH), Td Cu,0

4, CuO and CuCO5 / CuO Td CuCO;

Correct Answer :-

« Cu(OH), and CuCO5 / Cu(OH), Td CuCO;

14) Choose the incorrect property about colloids. /

PIATSS & SFRIT YUIUH BT TgT Be |

1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

HIASSA b HU dd ab Ta] S 8, Od T 1 I Uid Tel Bl a1 ST 8, T
FaRsd f[aaud H1w fRR 81d 81

2. Colloidal particles are not visible to the naked eye. /

HIASSA HUT A 3G} B fe@mE T8 Sd 8

3. The size of colloidal particles lies in the range 1077 =10 cm /
PHIASSA HUI BT SMBR 107 —10°5 . ST A AT B |
4. A colloidal solution is homogeneous in nature /

TP Plazsd Ao Upid H Teidig giar g |

Correct Answer :-

« A colloidal solution is homogeneous in nature /

TS HIARSd [aa Upid & Joiaid giar g

15) Identify an isotope used as a tracer to detect the blood clot in human body /

A TR § Y b Yab BT UdT e P T U 3R F =0 | Uged &1 a1l U
THRTS B Ugar I

1. Uranium — 235 / G- — 235
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2. Todine -131 / 3MATS — 131
3. Sodium — 24 / 9ifeTd — 24
4. Cobalt — 60 / PISTE — 60

Correct Answer :-

. Sodium — 24 / QfSTT - 24

16) The product formed when iron reacts with steam is /
g SR arey AFUFHAT & T 9Tl SIS §:

1. FeO

2. FeH

3. FEZO3
4, Fe304

Correct Answer :-

o Fe3O4

17) The role of decomposers in the ecosystem is /
RIS @1 & ervues! 31 Yfie gt €
1. They do not act on organic compounds. / d BT AT TR BT ol B

2. To convert inorganic materials into simple forms. / PSS Tardf &I WRa =l # uRafdd
DA

3. To convert organic materials into inorganic forms. / PIEFP Uerdf Bl SfBEHE Ui J
gRafcid P

4. To convert inorganic materials into organic compounds. / AP H® Yl B P qifew! o
gRafdd e

Correct Answer :-

« To convert organic materials into inorganic forms. / PIEFD Tardl dl BEHS Ui J
gRafdd S

18) The lightning arrester helps: /
afeda@rsem Aud 9 & deg FRa1 8:

1. To store the electric charges at the time of lightning /
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dfsd & Tu faggd ool & TUeid & H |

2. Dissipate the electric charges in to the atmosphere /
fdgga siaxll & argHed | Bieq ||

3. Avoid the production charges on the clouds /
et | SRl % SET g H |

4, To transfer the electric charges to the ground /

faegd 3maxil o1 YW H RIFIdRd = H|

Correct Answer :-

« To transfer the electric charges to the ground /
faqgd aman & Y ¥ WAk B 1

19) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs
for 10 hours per day in a month of 30 days? /

30 f& & v wg_ A ufa 12 10 92 & forw 5 91e & <3 Tedl & UaRT A fHdiare gel o
o fagga Sut @) wua gidl 82

1. 15 kWh

2. 150 kwh

3. 15000 kWh
4, 1500 kWh

Correct Answer :-

« 15kWh

20) Calculate the formula unit mass of MgSO,4.7H,0
[Atomic masses: Mg =24u,S=32u,0=16u, H=1u]/
MgS0,.7TH,0 & T 3PTS STHTT Y 0T HY:
[URHTY] <HTA: Mg=24u,S=32u,0=16u, H=1 u]
1.286u

2.232u

3.246u

4. 198 u
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Correct Answer :-

« 2461

21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic
energy of the bullet is mainly converted in to /

dg® I M gF 9 IR T FYiia aws! & 9 U= el g9 STt ¢ | Telt & it
Soll g&I U § 399 ufvafdd g 9l 8:

1. Only Heat energy/aﬁam 3l
2. Kinetic energy for the wooden board /W%%%W Tt St

3. Only Sound energy/abdﬂ e Soll

4. Sound and heat energy both / &f 3R ST ol gl

Correct Answer :-

« Sound and heat energy both / S 3R AT St Gl

22) 1na sunny day, when the atmospheric temperature is 37°C, the temperature inside a car,
which is parked on an open ground is: /

T® YU ard fo ¥, 519 argHs <y arad 370 AR g1 8, 9 T B1R & a3 &1
aTaH, S gd Ao W @l 8, e gim:

1. Greater than or equal to 370C /370C o RIS AT 3HIH
2. Equal t0370C / 37°C & SRTeR

3. Always greater than 37°C /37°C 3 3w

4. Less than 370C / 370C ¥ &H

Corfécf Answer :-

« Always greater than 37°C / 370C ¥ 3w

23) In a filament bulb the electrical energy is converted into: /
% fhamc aed (dg 9e9) & fagyd ol «! saw ufkafda fear S g:

1. Chemical energy / RIRIEERC]

2. Only heat energy / Had ST SHoll

3. Only light energy / Had UPHT ol
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4, Light and heat energy both / UPIRI 3R ST FHoll gl

Correct Answer :-

« Light and heat energy both / UPIR] 3R &1 Solf Sl

24) What is the valency of Carbon in Methane? /
WA § BT I ST T foba=il 82

1. ValencyofC=2/Ca’ﬂwW=2

2. Valency of C =1 / C B FaeTdhdl = 1

3. ValencyofC=4/Ca'ﬂWW=4

4, ValencyofC=3/Ca’ﬁ¥i?3n\—ﬂ$aT=3

Correct Answer :-

. ValencyofC=4/Ca$fﬂ'TnTﬂWT=4

25) Which among the following is a mixed anhydride? /

Frafafaa o 3§« ve e TiessEs 32
1. CO,

2. N,05

3. 80,

4.NO,

Correct Answer :-

. NO,

26) Which of the following is not a control measure for the storage of grains? /
Fafafea & 9 a1 3FTe WSl & forg ford=ror Sura =15t 52

1. Chemical method / IS fafdy

2. Fumigation / ifﬂ

3. Plant products like mineral oils / TS 9 SR UTey IS

4. Cultural method / W fafer

Correct Answer :-
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« Cultural method / “VTW fafer

27) Which of the following is a biotic component? /
fafafEd # @ o9-91 0 Sifas ges 72

1. Air/dlYg

2. Water / Si¢T

3. Soil / lIEY

4. Living things / Siifdd a&qq

Correct Answer :-
« Living things / Sifdd a&qq

28) Which of the following is a chemical effect of electric current: /
e o & w7 fagga vare &1 IRafae yua §:

1. Producing a magnet using electric current /

o

f4ggd UaTg &1 STANT HRoh Uh Gad I Bl

2. Producing heat in an electric kettle /
Ueh e Haci H S0 SUH HA]
3. Producing light using electric bulb /
faISTefl o Sed BT IUANT B YT I DAl

4. Production of Hp and O, by passing current through water /

T URT TaTed BRb Hy 3R 0, H1 IdTeT HIAT

Correct Answer :-

« Production of Hy and O by passing current through water /

T ¥ YRT UaTed e Hy 3R 0, BT I Bl

29) Name the property of the components used for separating salt and camphor. /

TS 3R HYR DI 3T HI & AT 7T fohd 94 a1dt geanl & uresd garga|
1. Using separating funnel / QU&IR] 1T &1 YINT

2. Magnetic separation / a1 JUahUl

3. Sedimentation / 3{dHIG
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4. Sublimation / 3 &UTd

Correct Answer :-

o Sublimation /G)‘_?.a;ql?ﬂ

30) Discoveries, inventions, laws, theories are all related to the .

g, srfass, fFraw, Rigia 9 Hafta §1
1. ease in daily living ) & Sha & S
2. study of science / O &1 31T

3. luxuries of life / ST o IR

4. satisfying human curiosity / AT TOIRITAT D1 HIY HAT
Correct Answer :7-” | -

. study of science / 1A T 3ieg

31) Not only formative but also summative assessment can be conducted
through: /

9 wad i, afew g Sead o A9 & Areay S Senferd
far s awan g:

1. Homework / W

2. Question and answer sessions / U4 3R IR T
3. Projects / BT EIRT]
4. Self-evaluation of teachers / fRr&fehl BT -HIh

Correct Answer ;-

« Projects / gfRareTaf

32) The drawback of Case Study method is that it does not lead to a: / +9-

wotfafrsrgugfeas__ wemadi =i el
1. Generalization / JTHTITHTT

2. Conclusion / Fspy

3. Categorization / G11GRUT
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4, Assimilation / STHITh U]

Correct Answer :-

. Generalization / ATHRITGOT

33) Which of the following is not a feature of Continuous and Comprehensive

Evaluation (CCE)? / ﬁ'ﬁﬁ«r@a = o PN Taqa 'Qa' MY W (m'\‘:ﬁ'&;)
oI fa=war =81 82

1. It helps the teacher to learn about the existing concepts of students. / Ug EIEIK:]

HIS[eT YRS o IR & S H R1efes &1 grdl &l gl

2. It involves more frequent tests and examinations. / Qﬂﬁ GRIIIR 1ZIﬂ&‘I'UT GhT
Tems gfmfrd e |1

3. It involves repeated assessment of the same parameter. /sﬂﬁ Uh 'Eﬁ HHqUS bl

IR-IR 3 grRferd gidT g
4. It is a school-based evaluation. / g Udh [CEINEEIIEG! W %’I

Correct Answer :-

. It involves more frequent tests and examinations. / SIH AR U101 3R
TRIgMy GiEferd gidt 5 |

34) Which of the following is not a scientific question? / fFHfeRaa R ar k)

U a1 Uy A8 87

1. What is the density of water? / U1 &1 g fda-T %?

2. Why can we not see in the dark? / §H 3R T |} "I‘Eunl' a{g g %?

3. What is meant by a secular republic? / Uﬁﬁ?ﬁ&‘f OIS BT 7 Y %’?
4, Why is the colour of sky blue? / 3{ThTR] DI [T el =Gt %?

Correct Answer :-

« What is meant by a secular republic? / ﬁlﬁﬁ@&f TG BT 1 3‘[Qf %?

35) A formal event where multiple experts deliver their speeches is known

as ./ T ST Uo7 ogi $3 fIRvg o= HTYor a4 &,
9 H ST S 21
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1. Laboratory / TRIRTRITET
2. Symposium /@ﬂ@f

3. Exposition / U@f:ﬁ

4. Workshop / CABRII]]

Correct Answer :-

« Symposium / ST

36) What is the name of the satellite that was placed in the geostationary
orbit specifically for increasing television-based education in India? / 3 3UUg BT "AH

w11 8, O yRa & ifae-enutia Rien & 9em & e foRiv wu S ymAfas v
T IET TRT UT?

1. ERS2
2. EDUSAT
3. TechEdSat

4. ATS-6

Correct Answer :-
« EDUSAT

37) What is meant by intervarietal hybridisation? /

ierfafay Hewor &1 31 37 g &2

1. Crossing between different varieties of plants. /
uiel & fAfNe UpR & S ThvdT (hIRiT)

2. Crossing between different genera. /
T2t ISl o offer el (shifiT)

3. Crossing between genetically dissimilar plants. /
TR =U F fir el & e Topean (1)

4. Crossing between two different species of the same genus. /

U 1 921 & &l ot omiferdt o ot Tahwal (1)

Correct Answer :-

« Crossing between different varieties of plants. /
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areff o At YR o i Sapedr (hIRi)

38) Assessment standards are required to provide effective science education for all. To
assess teaching of science by science teachers in a classroom, which of the following

is NOT applicable? / Y1 & for@ T fasm= Rrem ver #4 & forw siwaq
A B ATTIHT il &1 Ham & A et grT g & Rraor o1
imad B & g, Fafafaa d 3 o9 a1 Suge T8 @2

1. Parents’ view of the teacher. /ﬁTW? ATd1-fordr W“‘a‘f@ﬁml

2. Performance report of the students in the subject. / fava & S 3t ueeE
RUIc|

3. Students’ feedback on the teacher. /@T&W R I 3] ufafhar

4. Other school’s opinion of the science teacher. / 3 fa=Iedl ot fagm fRiere &

IR AT
Correct Answer :-

« Other school’s opinion of the science teacher. / 3 [l ot fagm Riers &
IR HRMA|

39) The factor that does not influence the formation of winds is: /

arg fafor &1 yurfaa 1 v+ aren s = 3:
1. Presence of mountain ranges / dd CRCl P IUrRT

2. Presence of seas and oceans / {-Hjﬁ\l. 3R ENITRI &t IufUfa

3. Uneven heating of the atmosphere in different regions of the earth / q?-Eﬂ o fafir & o
AIdraRUT T SYHTT did—

4, Rotation of the earth / H@W‘EI;U%-[

Correct Answer :-

« Presence of seas and oceans / ﬂﬂ?ﬁ 3R AENIFRI & SUffd

40) When a force of 1000N is applied on a particular surface the pressure acting on that
surface is found to be 10 Pa, then the area of the surface over which the force is applied
is /

w9 fpdt faRy Was TR 1000 <ge BT 96 YN AT @ df 39 Hdg UR A 919l ga1d 10 Pa TR
1T 8, 99 SV T8 BT S fha o:

1.0.001 m?
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2. 1000 m?
3,100 m2
4. 10 m?

Correct Answer :-

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s
respectively. Which of the two objects have the same speed? /

TR a3l P, Q, R Td S &1 71fal svu=T: 10 W/F, 36 forrll/Her, 18f%H/wer 3k 30H/A B 1 fv= &t
g @+ wfa IuE 22

1.RandS/RUTdS
2.PandR/PTIR
3.PandQ/PTEQ
4.QandS/QUA S

Correct Answer :-

« PandQ/PUTIQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20
oscillations?/

A UgaH @1 a9 fha- 9”20 giaA! | e fRufa o oR wdt 82
1. 10
2.20
3.40

4. 60

Correct Answer :-

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the
ground. (g =10m/s2)/

TP g 100 H #1 SHurs | RIS o} 31 g B Yf¥r 9 uge A ford=n w07 @1 (g = 10m/s2)
. 2455
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5425

3. 20s

4, 25s

Correct Answer :-

2455

44) Amount of energy transferred from one trophic level to the next is /
TH NYS WR & ST v R § FEaRd Sl ST aE g1 g

1. 5%

2. 20%

3. 15%

4. 10%

Correct Answer :-

e 10%

45) The acid present in Rancid butter /
a1 Heraw & SufRya i gaT &

1. Butyric acid / a{ﬁﬁ_ﬂﬁ STRT

2. Acetic acid /TRIfc®H 3T

3. Lactic acid / Qifdee 3

4. Formic acid / BIH® 3

Correct Answer :-

« Butyric acid / W ST

46) In an electric motor, the energy transformation is from: /
% fagya Hiex &, Suil ufkadT a1 gidr &:

1. Magnetic energy into electrical energy / 1giGIObhli‘l STl &l iadgl,d Sl |

N

2. Mechanical energy into electrical energy / giffe® \’n\TITW iaqu d)\rITﬁ
3. Electrical energy into magnetic energy / faggd &eil &1 da g SHoil #
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4, Electrical energy into mechanical energy / fagga Sl &1 TifAe Gl &

Correct Answer :-

« Electrical energy into mechanical energy / ﬁﬂﬂﬁ ol & Tifad ol d

47) CANCELLED

Thick layer of fat called blubber is found in: /

SAGR ATHS 99T B HIdT URd 518 Uil STl 8:
1. Whale / &
2. Polar bear / Wlﬂﬁ

3. Camel / e

4, Shark / &

Correct Answer :-

. Whale/®d

48) Which one of the features mentioned below about decomposers is not applicable to
decomposers? /

3qHeH TSI Ut gid & 3R 9 gt &) Are #ed 1

1. They transfer energy to the next trophic level in the food chain. /
I TR Y1 H 37 Ui ddl TR TR 3ol RIFIART #Xd g |

2. They are also called as saprophytes or reducers /

38 gaoitd! a1 qgPR® H HET S g

3. Decomposers are also scavengers and they clean the earth. /
3gee TGS H Bl § 3R 3 gedt &1 9 v g

4. They help in recycling nutrients. /

3 UIYe TAREh Ul § Hag BRd &

Correct Answer :-
« They transfer energy to the next trophic level in the food chain. /

I T R & TS WYl TR WR ol RIFIRT $d g

49) Wwhich of the following is not a child-centred classroom? / Frafafaa & @ $9-d

ITA-blod BT TE 82
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1. Teachers promote collaboration in learning / fRrefep ST o T8I &l deldl
<dEl

2. The teacher is a facilitator instead of an instructor / TR1&/&H Udh TRT&® & Told
U JHGID § |

3. The teacher decides content, instruction method and assessments / fRrerw HITFJ?[,

fdw Y 3R sireped &1 Rvfg BT 5|

4. The students have a choice to pick assignments and decide assessment criteria /

BHET & U SR I R Jegidhd AFes a9 HR- &l [dmed o

Correct Answer :-

« The teacher decides content, instruction method and assessments / Rigr® HITI"j)[,

Sz fafY iR eeper &1 v HRaT gl

50) Which of the following wastes is not bio degradable? /
FrafafEa & @ S=-ar sufre S9 fw a1 Si9 sraw i T8 82
1. Vegetable peel / gfeordi o foad

2. Milk sachets / Y & e

3. Cow dung / TTIg PT MR

4. News paper / 3I&dR

Correct Answer :-

« Milk sachets / G4 & e

51) Which of the following learning approach is considered to be a derivative of the

Ausubelian approach? / ﬁn;ri?-r@a =k o qr feTH E@aﬁ'UT, Gﬁﬂaﬁfﬂq
OB ST Heus WIHT STl 872

1. Experiential learning / 3HdTHD 3{fTH

2. Collaborative learning approach / AT S S{TUTH DI

3. Analogy strategy / Hl€{Y BB

4. Concept mapping / TIG = AMH<HU]

Correct Answer :-

« Concept mapping / RIGT=d A=
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52) Which of the following can help the students to learn science through kinesthetic

movements?/mﬁ@ﬁqwaﬁmﬁmﬁ-ﬁ%mm@mﬂw
T Heg HY qbdl 82

1. Written test / foifaa uterm
2. Debate / dTe-fdare
3. Drama / dICh

4. Quiz / TR

Correct Answer :-

« Drama/ICh

53) If an object is kept in between the principal focus and the centre of curvature of a
concave mirror, then the nature of the image will be: /

gfe farslt avg #) g Wiy R sraad gl & awbal & S A IWT 1T §, a1 B9 $ upfa gl
1. Real, enlarged and inverted /W, s{f\nafﬁ?rqaaﬁ
2. virtual, diminished and erect / S{THTET, Wﬂ@?ﬁ?ﬂ

3. Real, diminished and inverted / dl%dlracb, \Li@lr%ld Q_d I

4, Real, diminished and erect/ dRdfdd, Hepfad Td redt

Correct Answer :-

 Real, enlarged and inverted /W, m@ 3ec]

54) People of different age groups need different amount of sleep. Who among the
following needs more sleep? /

fafirar ey ot & @il &Y sreT-orerT A § g #) srazgwar gl 71 Fafafea A 3 59 e 3t
g 3T od gidl 82

1. Child / d=dl

2. Infant/fQT-‘{l
3. Man /Y=Y
4. Woman /II'%FIT

Correct Answer :-

. Infant/@]’ﬂ
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The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on that
surface is: /

2.5 m?2 B! TP Tdg W AW: 100 N HT g6 T4T a1 2 | a8 U I 11 &a1d &
1. 400 N/m?2

2. 40 N/m?

3.4 N/m?

4, 250 N/m?2

Correct Answer :-

e 40 N/m?

56) A teacher is trying to nurture an aesthetic sense in his students, he should

encourage them to: /WﬁT&‘Iﬁ mmﬁﬁaﬁumuﬁwmﬁaﬁ
DR B IGT €, S 3¢ WieATed BT A1y b

1. Investigate ideas / CEREIRKIEERY
2. Development of models of inquiry / ST & giaH™ (IIU'IGE) B [aHRId B |

3. Observe phenomenon keenly / ¥CHl G| b dl |
4. Frame questions / 3 UY TR HI|

Correct Answer :-

. Observe phenomenon keenly / g2 B IGhal I ¢4 |

57) Which of the following would not promote active discussion? / ﬁ'ﬁﬁ'ﬂ@?{ s

A B Afepy T4 P ITaT 81 G2
1. Selecting topics from upcoming tests. / SIRTTH! URI&OT I fawl T =8 DT

2. Summarizing ideas with the help of learners at the end of a discussion. / EEIED
3id # Rranfial o Tgradr ¥ =Rl o YRIR S|

3. Acknowledging learners for responses. / gfafeear & fere Rrenfdal o Wer
hAT|

4. Encouraging questions as well as responses to each other’s questions. / qardi &l

UITTed BT U4 9T &1 Uh-gax & Ui & ofard &1l

Correct Answer :~-

Page- 56



« Selecting topics from upcoming tests. / SITTHT TRIeon O favdl &1 gg= B

58) Which of the following statements is false with respect to scientific theories? /

AT Rigial & Jdu § FafaRad A @ 919 91 Y9 Tdd 82

1. A theory must be tested with rigour. / Tep TIGId BT T@dl & 1Y GRI&OT fHar ST

Sy
2. Theories must follow observations. / @l@k_‘” Pl ﬁ&wﬁ CARINEICRGI EIT%QI

3. Theories may be expressed as an equation. / Riidl &1 T qHIHU o TY H
e [T oI Fava 3|

4. Predictions of theories must be reproducible. / Rigr=di ! HiosarforT sraeg
¥U Y JRedGH1g gl AUl

Correct Answer :-

« Theories must follow observations. / m@lal Pl ﬁ&rﬂﬁ AR NEIGREI HT%QI

59) A scientific theory cannot be expected to: / Th ﬁmﬁw Rrgia I sruem T8t
P I bl b -

1. Predict all outcomes / T URUIHT HT Yalga™ Tl |

2. Resist falsification / 3P BT [RIY B |
3. Receive questioning / 901 DI VT DY
4. Change with time / THd & 1Y TG |

Correct Answer :-

. Predict all outcomes / T GROIHT BT WF[ T |

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile.
What substance is generally added to the soil to neutralize this effect? /

Py A IR Idve! & Sifa waT A frdh sty gl 8 Tt YT Srusrs: 8 wirdt g1
Y UHTT P I3RR HI4 & fore arar=ud: i uerd &1 fird) # fereman simar @2

1. NaOH

2. Mg(OH),

3. N3.2CO3
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